If f (t) =sinnt for te(—m, 7] be a function of period 2x. Find the Fourier Series representation of
f(0). [98 &K C]

[T () maE = s () = Z b, sinnt

b, = lr f (t)sinntdt = —J-ﬁ sin 7t sin ntdt = ljﬁ [cos(n —7)t — cos(n + 7)t]dt
Ty w0 70

1 sin(n—7)t _sin(n+7z)t],r B l[sin(n—ﬂ)ﬂ_sin(n+7r)7r
T n—-rn n+z ‘7z n—rx n+z

1 SlIlnﬂ'COSﬂ' —COS”ﬂ'Sll’lﬂ' Sil’lnﬂ'COSﬂ'Z-l‘COSHﬂ'Sil’lﬂ'z]

pu

nNn—-rnx N+
=l O-cos7zz—(—1)“sin7r2_O~cos7r2+(—1)“sin7z2]:_(—l)”sin;z'2 1 N 1 )
T n—-rx n+rz T nNn+z nN-rx
_ (=D"sinz? (n-7m)+(n+7x),  2n(-1)"sinz’
T V4 [ n’ -z’ o z(n* —x%)
0 n 2 :
f(t):z_—Zn(—nlz)_s;nzi)r sinnt:—zslziz ;:(_; sin nt

2 terms

AL %ﬁ
VARV IRV

AN AW WY
VAVAVESvavAV.




